EARAROBEEIERT — 2 N— IBISH —F

2019587120 (B) 5EIEER6H

mglg\,\m/\rpﬁzﬁv\y Sal—LE C2H #5%3% (w8 | imEmml - |5 @) oo 8
[A&4£] 1% :300,000" ~ 237%&:78,000 "  33&:42,000” 437 :30,000H .~ 57&:15,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
TN FER :13. - . — FEEE (KR)
118/10 o h 3 54.0 1(1_3)8 - s 2 (i??) EAEZ ’
L:bowHso-—U— BAMO-vIvy R RBIS
N . B :15. —2 . — BREAGAE (B%FE)
207|7|71>7+7=K I 5 P ° w7 ’ tg? EEER
R:TIv IR BUX NI [~ 5
o e . LA : - — NFEEAE (B4R
3178 INKINZ Y % 3 54.0 1'(115>'8 4 %.0 ! f; :Jtﬂ(y\g}i]
LXK kET BT R ALY Y KT
NPT IEEN 5Kt : — — HHER= (BRE)
sk 3| BT "3 8 1'(156)'6 o »0 ° f_f; SNE/ A
L:T7—=UT74—2 BTATIANRT Y FATLANIST
. > W it 3 | BEREA 1:16.7 2-2 40.2| — 4 443 | B OKR)
5 9 HFILR YR A51.0 (1/2) (-6) AIEN
R:T5TVRZ B:USATTI onickie ]

— RPN st 3 | WAdEE 1:17.1 3-5 40.4| — 3 | 413 |fEBEHEE] (KIR)
6N 4| T2AEFS 54.0 @ 1/2) 5 | TL=2>7 @)
L:hE—X2—F— B:AT=2TIIXb LHES

N IR : = — HRIEZRI (AKR)
W E O R
R:r—775>3 B:Y-Y 28— Bk
TN ARF8E : - — BAAER (KIR)
N - IR 2 A 4 3 al 1.(117).3 9-8 39.6 7 e(ygs; aes i
RIAS>TFyva B:ILA—L ZE—RKTT—L4
= o t 3 | BRIEE 1:17.6 6-6 40.6| — 8 418 | REEFD (KR)
911 | VY=>AEF— 54.0 (1172 (1) | THAET
R:T52AToH— B:AYYZLRTIYh BH Xtk
95 4 3 | BAW 1:20.0 10-10 | 40.9| — 10 | 495 |HEEEHS (E&AE)
10/ 515 TtEIv T ¥¢55.0 (21 4) (o) | SkeatE
R:&ZJ/FLLy b BFU-—SH—) x KB
® 1—F—@EBIERL
13—7-—
2a=5"=
Jol=5r= 10,9,4,8,7,1,2,3,6,5
43—+ — 10,(7,9) ,8,4,1,3,6,2,5
[ /N
B 10 230 714K 7-10 2,180 B 7-8 200 JEE 7-8-10 5,610
B B 10 110H 8-10 160M B & 7-10 13,050 JEE 10-7-8 45,740
7 730M 7-8 2,320H B E 10-7 14,900M
8 1209

ABICOVWTRDTEEERROODE. TR LIV,




